GUESSING PRACTICE FOR THE AP EXAM
1. In comparison to courts in other nations, US courts are:

a. Weaker and less influential in making public policy

b. More influential in determining public policy
c. Stronger than any other in making public policy, except for France
d. Equivalent in policy making influence to the British courts
e. Dependent upon the legislature for carrying out decisions

2. When the bureaucracy knows who it wishes to hire for a government position and wants to avoid an open search, the job is filled through:

a. Patronage

b. The competitive service

c. Congressional vote

d. The buddy system

e. An end run

3. All of these were realigning elections EXCEPT:

a. 1800

b. 1828

c. 1840

d. 1860

e. 1932

4. An important difference between Congress and a European parliament is that:

a. Members of a parliament have less influence on the actions of the executive branch

b. Members of Congress are subject to stronger party discipline

c. Members of a parliament are subject to stronger party discipline

d. Members of a parliament are more likely to get involved in minute details of policy making

e. Members of a parliament usually hold their positions for much longer periods of time

5. Which of the following interest group activities is forbidden by federal law?
a. Supplying information concerning a vital issue to a congressman

b. Commissioning a public opinion poll, and then using the results to put pressure on a member of Congress

c. Hiring a former member of Congress as a full time staff member

d. Lobbying by tax-exempt groups

e. Hiring a former member of Congress as a consultant
